What is the maximum total profit that the Dairy Farm Company (see below) earns if the price of milk (product A) falls to $0.50 while the price of cheese (product B) remains at $1.  You will need to work it out graphically on a separate sheet of paper, but only provide the answer.  Use TC = 90 table.

	TC = $70
	 
	TC = $90

	Product A
	 
	Product B
	 
	Product A
	 
	Product B

	80
	
	0
	
	100
	
	0

	70
	
	40
	
	90
	
	60

	50
	
	70
	
	70
	
	90

	20
	
	90
	
	30
	
	120

	0
	
	95
	
	0
	
	130

	 
	 
	 
	 
	 
	 
	 

	TC = $140

	Product A
	
	Product B

	
	130
	
	
	
	0
	

	
	110
	
	
	
	70
	

	
	80
	
	
	
	120
	

	
	40
	
	
	
	150
	

	 
	0
	 
	 
	 
	160
	 


